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QUESTION 1

What describes the action of the qualified-next-hop parameter in a configuration?

A. It performs a recursive lookup on the destination network to confirm that the route is reachable.

B. It allows for the configuration of independent preferences for static routes to the same destination.

C. It periodically pings the next hop to validate its existence thereby assigning the static route to the forwarding table.
D. It verifies the maximum hop count limit before validating the static route.

Correct Answer: B

QUESTION 2

What are three extended BGP communities? (Choose three.)
A. target:65000:65000

B. domain-id:192.168.1.1:155

C. 172.16.90.100:888

D. extend:454:350

E. origin:172.16.100.100:100

Correct Answer:. ABE

QUESTION 3

A new BGP session has been configured. Upon monitoring the session state, you notice that the session has just
transitioned from connect state to active state. What does the active state indicate for this BGP session?

A. Something is wrong with your configuration. You must check your configuration and try again.
B. This is the expected behavior. You should wait longer for the BGP session to establish.

C. The OPEN messages collided. One BGP peer must be configured with the passive option.

D. No route exists to the neighbors peering address. Check the IGP for reachability.

Correct Answer: B

QUESTION 4

Which three statements are default BGP advertisement rules? (Choose three.)
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A. IBGP peers advertise routes received from EBGP peers to other IBGP peers.

B. EBGP peers advertise routes learned from IBGP or EBGP peers to other EBGP peers.

C. IBGP peers do not advertise routes received from IBGP peers to other IBGP peers.

D. EBGP peers do not advertise routes learned from IBGP or EBGP peers to other EBGP peers.
E. IBGP peers advertise routes received from IBGP peers to other IBGP peers.

Correct Answer: ABC

QUESTION 5

Which statement is true about STP on an EX Series switch?

A. STP requires MSTP to also be configured.

B. STP automatically rebuilds the tree when the topology changes.
C. STP builds loop-free paths in nonredundant Layer 2 networks.
D. The root bridge is the switch with the highest bridge ID.

Correct Answer: B
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